
2NT  = 7~12 HCP, both minors  at least 5-5  (Level 2) 
                                       If only 7~9 HCP, all the points should concentrated in the minors  

Open             Response                                                                                                                        

2NT           Pass     = could be best contract.  

                       3C/3D  = for play. 

           3H/3S  = 6+ cards suit, forcing. 

                        4C/4D = invitational. 

                        4NT = at least 3-3 in the minors. Ask opener to bid his better minor. 

           5C/5D  = for play.  

 

2NT                 4NT 

5C/5D              5D/5H = Kick Back RKC in Club/Diamond 

 

Completive biddings against opponent’s 2NT (both minors) overcall. 
       Opener    Opponent   Responder 

       1 Major      2NT        double = 11+ HCP, one long minor, no 3+ cards support opener’s Major.  

                                             3C    = 11+ HCP, 4-card another Major, no 3+ cards support opener’s Major. 

                                             3D    = 11+ HCP, 3+ cards support opener’s Major. 

                                             3 other Major = 11+ HCP, 5+ cards other Major, no 3+ cards opener’s Major. 

                                             3 same Major = 8~10 HCP, 3+ cards support opener’s Major. 

 

. Kick Back Roman Key-Card (KBRKC) 

4D/4H/4S are the KBRKC for Club/Diamond/Heart suit. 

 

After the KBRKC for Key-card.  

Then 5D/5H/5S are the side King asking for Club/Diamond/Heart suit. 

The answer is to bid the Side King suit up the line. 5NT is the side King in the asking bid suit. If no side King, 

bid directly to 6 of the trump suit. The bid one step over 6 of the trump suit shows all 3 side Kings  

  

Or after the KBRKC for Key-card. The Next Available Bid below 6 of the trump suit is Trump Queen asking. 

The answer is to bid the lowest side King if having the Trump Queen.  

Otherwise bid directly to 6 of the trump suit. 

 

If bid one suit or response one suit first. Then 4 of the bid suit can not use as Kick Back Roman Key-Card. 

Then should be change back to 4NT as regular Roman Key-Card asking.  

For D/H/S are 1430. For Club is 3014. 

 

For example: If open 1H or response Heart first. Then 4H can not be Kick Back Roman Key-Card for 

Diamond. Should use 4NT. 

 

If 4D/4H/4S can use as Kick Back Roman Key-Card asking. Then 4NT is use to invite for 6NT. 

                                               
      Response to 1430 Roman Key-Card or Kick Back Roman Key-Card : 

      1st step = 1 or 4 Key Cards. 

      2nd step = 0 or 3 Key Cards. 

      3rd step = 2 Key Cards without Trump Queen. 

      4th step = 2 Key Cards with Trump Queen. 

 

After response 1st or 2nd step, a next available bid excluded trump suit is Trump Queen asking. If Responder 

has no Trump Queen. He just return to the Trump suit at lowest level. If has Trump Queen but no side King. 

Bid 6 of trump suit. If he has Trump Queen with side King. Bid the lowest specific side King.    

 

After response 3rd or 4th step, a next available bid excluded trump suit is specific side King asking. 

 

Or jump to 4NT or 5NT is asking for how many Kings. [Responder step answers: 0, 1, 2 and 3 Kings.] 

 


